EXCEL GROUP INSTITUTIONS

CENTRE FOR TRAINING & PLACEMENT

ASPIRE SYSTEMS 

Reasoning Questions
1. In a particular school, sixty students were athletes. Ten among them were also among the top academic performers. How many top academic performers  were in the school? 

1. Sixty per cent of the top academic performers were not athletes. 

2. All the top academic performers were not necessarily athletes.
 

A.using 1st Statement only       


B.using 2nd statement only              

C.using both 1st and 2nd statement    

D.using 1st or 2nd statement

2. Is a44 < b11, given that a = 2 and b is an integer ? 

1. b is even. 

2. b is greater than 16.
 
A.using 1st Statement only       


B.using 2nd statement only        

C.using both 1st and 2nd statement    

D.using 1st or 2nd statement

3. What are the unique values of b and c in the equation 4x2 + bx + c = 0 if one of the roots of the equation is (-1/2)? 
1. The second root is 1/2. 

2. The ratio of c and b is 1.
 
 
A.using 1st Statement only        


B.using 2nd statement only        

 

C.using both 1st and 2nd statement    

D.using 1st or 2nd statement
4. In the following questions,the symbols $,#,@,% and * are illustrate the following meanings
 
P@Q – P is smaller than Q
 
P$Q – P is  greater than  Q.
 
P#Q – P is  either smaller than or equal to Q.
 
P*Q – P is either  greater than or equal to Q
 
P%Q – P is neither smaller than nor smaller than Q.
 
Statement: M $ N , N * O, O # P
 
Conclusions:  I. N # P   II. N * P
A)if only conclusion I is true

B) if only conclusion IIis true
C)if either conclusion I or II is true
D) if neither conclusion I nor II is true
E)if both conclusion I and II are true

Study the following table and answer the questions. Classification of 100 Students Based on the Marks Obtained by them in Physics and Chemistry in an Examination.

[image: image1.png]Marks out of 50

Subject
40 and above | 30 and above | 20 and above | 10 and above | 0 and above
Physics 9 32 80 92 100
Chemistry 4 21 66 81 100
Average (Aggregate) 7 27 73 87 100





5. What is the different between the number of students passed with 30 as cut-off marks in Chemistry and those passed with 30 as cut-off marks in aggregate?

A.3      

 
B.4      


  C.5        


D.6
6. The percentage of number of students getting at least 60% marks in Chemistry over those getting at least 40% marks in aggregate, is approximately?

A. 21%     

 B. 27%      

  C. 29%        

D. 31%

Directions: Study the following information carefully and answer the given questions...

D, E, F, H and I are seated in a circle facing the center. A, Band C are also seated in the same circle but two of them are not facing the center. F is second to the left of C. E is third to the right of A. B is third to the left of D, who is immediate neighbor of H and I. C is second to the right of D and third to the right of B.

7. Which of the following pairs is not facing the center?
 
a) B,C


b) A,C


c) D,E


d) B,D

e) None of these.
8. Who among the following is second to the left of B?
 
a) A


b) H


c) I


d) Either H or I
e) None of these.
9. How many integers, greater than 999 but not greater than 4000, can be formed with the digits 0, 1, 2, 3 and 4, if repetition of digits is allowed ?
 
A.499    

    
B.500        

C.375      

  D.376

10. Find the next term in the series ? 36 31 29 24 22 17 15
 
A.13 11        

B.10 5       

 C.13 8      

  D.10 8
Aptitude Questions
11. Ten years ago, the ages of the members of a joint family of eight people added up to 231 years. Three years later, one member died at the age of 60 years and a child was born during the same year. After another three years, one more member died, again at 60, and a child was born during the same year.The current average age of this eight member joint family is nearest to:
 
A.23 years   

 B.22 years  

  C.21 years   

 D.24 years
12. Two person are climbing up on two moving escalators which have 120steps. The ratio of 1st person's speed to that of 1st escalator is 2: 3. The ratio of 2nd person's speed to that of 2nd escalator is 3: 5. Find the total number of steps they both have taken together ?
 
A.85       


 B.93      


  C.80        

D.75
13. If the product of n positive real numbers is unity, then their sum is necessarily:
 
A. a multiple of n        
B. equal to n + 1/n       
 C. never less than n          D. a positive integer
14. The average temperature on Wednesday, Thursday and Friday was 250. The average temperature on Thursday, Friday and Saturday was 240. If the temperature on Saturday was 270, what was the temperature on Wednesday?
 
A.24 degrees        
B.21 degrees       
 
C.27 degrees        
D.30 degrees, 

15. Once I had been to the post-office to buy stamps of five rupees, two rupees and one rupee. I paid the clerk Rs 20, and since he did not have change, he gave me three more stamps of one rupee. If the number of stamps of each type that I had ordered initially was more than one, what was the total number of stamps that I bought ?
 
A.10      


B.9     

  
 C.12        

D.8
16. I sold two watches for Rs. 300 each, one at a loss of 10% and the other at a profit of 10%. What is the percent loss (-) or the percent profit (+) that resulted from the transaction?
 
A.(+) 10      

B.(-) 1   

     
C.(+) 1    

D.0
17. A man travels three-fifths of distance AB at a speed of 3a, and the remaining at a speed of 2b. If he goes from B to A and back at a speed of 5c in the same time, then: 
 
A.1/a + 1/b = 1/c     
   B.a + b = c        

C.1/a + 1/b = 2/c        
D.None of these
18. Instead of a meter scale, a cloth merchant uses a 120 cm scale while buying, but uses an 80 cm scale while selling the same cloth. If he offers a discount of 20 percent on cash payment, what is his overall percent profit ?
 
A.20%        

B.25%      

C.40%        

D.15%
19. In 4 years, the SI on a certain sum of money is 7/25 of the principal. What is the annual rate of interest ?
 
A.4%       

 B.4.5%     

C.7%   


D.9%
20. It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?
 
A. Sunday 

B. Saturday.

C. Friday 

D. Wednesday.

Verbal Questions:

Read the given passage carefully and attempt the question that follows:

What is immediately needed today is the establishment of a World Government or an International Federation of Mankind. It is the utmost necessity of the world today, and all those persons who wish to see all human beings happy and prosperous naturally feel it keenly. Of course, at times, we all feel that many of our problems of our political, social and cultural life would come to an end if there were one Government all over the world. Travelers, businessmen, seekers of knowledge and teachers of righteousness know very well that great impediments and obstructions are faced by them when they pass from one country to another, exchange goods, get information, and make an effort to spread their good gospel among their fellow-men. In the past religious sects divided one set of people against another, colour of the skin or construction of the body set one against the other. But today when philosophical light has exploded the darkness that was created by religious differences, and when scientific knowledge has falsified the theory of social superiority and when modern inventions have enabled human beings of all religious views and of all races and colours to come in frequent contact with one another, it is the governments of various countries that keep people of one country apart from those of another. They create artificial barriers, unnatural distinctions, unhealthy isolation, unnecessary fears and dangers in the minds of the common men who by their nature want to live in friendship with their fellow-men. But all these evils would cease to exist if there were one Government all over the world.

1. What is the urgent need of the world today?
    (A)    The establishment of an international economic order (B)    The establishment of a world government
    (C)    The creation of a cultured international social order     (D)    The raising of an international spiritual army
    (E)    The development of healthy relations among the various countries of the world

2. The people who  face  impediments  and obstructions when they pass from one country to another and do a lot of good jobs are all the following except:
    (A) Travelers



(B) Businessmen

(C) Seekers of knowledge
    (D) Teachers of righteousness

(E) Empire builders

3. In the past religious sects :
    (A)    United the people with one another


(B)    Divided one set of people from another
    (C)    Did a good job by way of spreading message of love and peace
    (D)    Interfered in political affairs



(E)    Kept away from political affairs

4. What was the factor that set one man against another ?
    (A)    Material prosperity of certain people in the midst of grinding poverty
    (B)    Superior physical  strength  of some persons
(C)    Colour of the skin or construction of the body
    (D)    Some people being educated and other illiterate
(E) Psychological barriers

5. The theory of racial superiority stands falsie fied today by:
    (A)    Scientific knowledge
    (B)    The ascendancy of a people who were here-to fore considered of inferior racial stock
    (C)    The achievements of the so-called inferior races in every field of life
    (D)   The precedence given to physical prowess which the so-called inferior races possess and the so-called 
              superior races lack
    (E)    None of the above factors

6. The miser gazed ...... at the pile of gold coins in front of him.
 
A. avidly 

B. admiringly

C. thoughtfully 

D. earnestly
7. It has been established that
 
P : Einstein was
 
Q : although a great scientist
 
R : weak in arithmetic
 
S : right from his school days
The Proper sequence should be:
 
A. SRPQ 

B. QPRS


C. QPSR 


D. RQPS
8.  CORPOREAL:SPIRITUAL
A. mesa:plateau
B. moron:savant
C. foreigner:immigrant
D.pedagogue:teacher

 
 In each of the following questions, a statement is given, followed by two conclusions. 

9. Statement: Company X has marketed the product. Go ahead, purchase it if price and quality are your considerations.
Conclusions:
 I. The product must be good in quality.
 II. The price of product must be reasonable.
A. Only conclusion I follows  
B. Only conclusion II follows
C. Either I or II follows
D. Neither I nor II follows

E. Both I and II follow
10.  Statement: No country is absolutely self-dependent these days.
Conclusions:
I. It is impossible to grow and produce all that a country needs.
II. Countrymen in general have become lazy.
A. Only conclusion I follows
B. Only conclusion II follows
C. Either I or II follows
D. Neither I nor II follows

E. Both I and II follow
Technical Questions
1. What will be output of following c program?
#include<stdio.h>
#define max
int main(){
    printf("%d",max);
    return 0;
}

(A) 0

(B) null
 
(C) Garbage
  

(D) -1
 
(E) Compilation error
2. What will be output of following c program?
#include<stdio.h>
int main(){
    for(printf("1");!printf("0");printf("2"))
         printf("Sachin");
    return 0;
}

(A) 10sachin2
 (B) 10sachin
 (C) 10sachin210sachin2
(D) 10
 
(E) Compilation error
 


       3. What will be output of following c program?
#include<stdio.h>
int main(){
    int a=5;
    static int b=a;

    printf("%d %d",a,b);
    return 0;
}
(A) 5   5
 (B) 5   0
 (C) 5   null 


(D) 5   Garbage
 (E) Compilation error
 

       4. What will be output of following c program?
#include<stdio.h>
void main(){
  
  int i;
    for(i=0;i<5;i++){
         int x=0;
         printf("%d",x);
         x++;
    }  
}
(A) 01234
 (B) 001234
 (C) 0000
 

(D) Infinite loop (E) Compilation error
 


5. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
void main(){
    int a[]={5,10,15};
    int i=0,num;
    num=a[++i]+ ++i+(++i);
    printf("%d",num);
}
(A) 6
 
(B) 17
 
(C) 16
 
(D) 12
 
(E) Compilation error
 

6. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
void main(){
    int i=3,val;
    val=f(i)+ +f(i=1)+ +f(i-1);
    printf("%d",val);
}
int f(int num){
    return num*5;
}
(A) 30
 
(B) 20
 
(C) 21
 
(D) 31
 
(E) Compilation error
 

7. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
long fu(int);
char vect[]={1,2,3,4,5};
void main(){
    int i=1;
    i=fu(++i)+ ++vect[++i]+ ++i+fu(i++);
    printf("%d",i);
}
long fu(int x){
    return x*3;
}
(A) 31

(B) 32
 
(C) 33
 
(D) 34
 
(E) Compilation error
 

8. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
void main(){
    int a,i=4;
    a=- -i+- -i+- -5;
  
  printf("%d %d",a,i);
}
(A) 13  4
 (B) -3  2
 (C) 7   2
 (D) -13 4
 (E) Compilation error
 

9. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
void main(){
    int num,a=5;
    num=---a;
    printf("%d  %d",num,a);
}
(A) -4  4 
 (B) 3   3
 (C) -4  5
 (D) -5 -5
 (E) Compilation error
 

10. What will be output of following c program?
#include<stdio.h>
#include<conio.h>
void main(){
    int num,a=10;
    num=a--- -a--;
    printf("%d  %d",num,a);
}
(A) 0 8

(B) 0 10
 (C) 20 8
 (D) -1 10
 (E) Compilation error

***************ALL THE BEST **************

